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The following questions are related to C/C++ and Java, please prini
out the output.
I. (10 points)
#include <iostream> cout<<z = “<<z<<endl;
using namespace sid; z = (lloat)(x/y);
int main() cout<<z = “<<z<<endl;
{ 2= (float)x/(float)y;

nlx=3y=2; coul<<’z = “<<g<<endl;

floal z; z= (int)((Hoal)x/y + 0.5);

z = xly, couls<y = “e<g<<endl,

cou<<ry = “<<z<<end|; return 0;

z=x/2.0; }
2. Suppose the address of x is 2000, and the size of integer is 4 bytes. (10 points)
H#include <iostream> *pur=*plr -
using namespace std; COUL<<*pr = << pr<<endl;
int main() cour<<’x = <<y <<endl;
{ ptr=ptr + 1; l

intx =10, *ptr; coul<<plr = “<<ptr<<endl,

plr = &x; return 0;

com<<ptr = “<<pir<<endl; }

CoOu<< ¥ pir = “<<*pr<<endl; i
3. (5 points)
#include <iostream> void PrintStarl.ine(int n) 1
using namespace std; {
void PrintStar(int); i (n==0) return;
void PrintStarLine(int); PrintStarl.ine(n-1);
void PrintStar(int n) cout<<*
{ }

if ==0) return; int main()

PrintStar(n-1); {

PrintStarLine(n); PrinlStar(6);

cout<<endl; return O;
} }
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4. (5 poinls)

class Inheritance

{

public static void main(String args|])

{
13 objB = new B ();
}

class A
{
public A()
{
System.oul.printin("class A");
}
}
class B extends A
{
public B()
{
System.out.printin("class B");

}

5. (5 points)

class Inheritance

{

public static void main(String args|])
{
B objB = new B ();
objB.SetData(10);
}
}

class A

{

int data;
public void SetData(int x)

{

dala = x;
System.oul.printin("data = "+data);

}

class B extends A

{

public void SetData(int x)

{
data=x * 10;
System.out.printin("data = "+data);

}
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6. (10 points)
class Interface class Student implements Human
{ {
public siatic void main(String args(|) public void Speak()
{ {
Teacher John = new Teacher 0; Syslcm.oul‘prinll1'1("su|dcm");
Student Lee = new Student (); }
Conference C = new Conlerence 0; 1}
C.Speaker(John); class Conlerence
C.Speaker(lee); {
} public void Speaker(Iluman s)
} {
interface Human s.Speak();
{ }
public void Speak(); }
}
class Teacher implements Human
{
public void Speak()
{
System.out.printIn(teacher");
}

The following questions are related to general

programming languages.
7. Lel the function fun be defined as

concepts  in

int fun(int *k) it main() o
{ {
*k=*k *2; inti=10,j= 10, suml, sum?;
return 3 * (*k) - |; suml = (i /2) + fun(&i);
} sum2 = fun(&j) + (j / 2);
retrn 0;
) B i

What are the values of suml and sum?2? (10 points, each question is weighted 3

points)
(a) if the operands in the expressions are evalualed lefi 1o right?

(b) if the operands in the expressions are evatuated right to lefi?
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8. Consider the following program written'ifi C syntax: (25 points, each question is
weighted 5 points)

void fun(inta =0, int b = 0)

{

a=a+l;

int main()

{

int x = 10;

b=b-+10,
} fun(x, x);
printf(“x = %d\n”, x);

return 0;

}

For each of (he following parameler-passing methods, what are all of (he value of x

after calls to fun.

(a) pass by value (b) pass by resull (¢) pass by value-resull (d) pass by relerence (e)
pass by name

9. Consider the following grammar, which of the following sentences are in the
language generated by this grammar? (10 points)

S 2 aSeB

S=2A1b

A=2cAlc

B>d|A

(a) abed (b)accebd (c)acee (d)acd (e)accebee

10. According (o the following grammar.

<expr> -<expr> -> <expr> + <term> | <lerm>

<term> > <term> * <f{actor> | <factor>

<faclor> 2 <id> " <faclor> | <id>

<id> 2 A|B|C

shows the parse tree of following expression. (10 points)

A+BACAA*D




